
Prénom : ..........…...................... Date : .……................................................................... 
 

  (10) 

427 x 5 =  (400 + 20 + 7) x 5 
427 x 5 =  (400 x 5) + (20 x 5) + (7 x 5) 

427 x 5 =  2 000 + 100 + 35 
427 x 5 =  2 135 

1
4
3
2 7 

����        x       5 
2 1 3 5 

 

 

• Calcule en lignes suivant les exemples : 
 

427 x 5 = (400 + 20 + 7) x 5 = 2 000 + 100 + 35 = 2 135 
 

7 x 425  = 7 x (400 + 20 + 5) = 2 800 + 140 + 35 = 2 975 
 

238 x 6 = (………… + 30 + ……) x 6 = 1 200 + ………… + ……… = …………… 

 

4 x 915  = 4 x (………… + 10 + ……) = …………… + ……… + 20 = …………… 

 

631 x 8 = (600 + ……… + ……) x 8 = …………… + ………… + ……… = …………… 

 

5 x 708 = …… x (………… + ……… + ……) = …………… + ………… + ……… = …………… 

 

674 x 3 = (………… + ……… + ……) x …… = …………… + ………… + ……… = …………… 

 

2 x 888 = ……………………………………………………. = …………… + ………… + ……… = …………… 

 

569 x 7 = ………………………………………………………………………………………………………………………………… 
 

• Calcule en colonnes : 
 

1
4
3
2 7 

x       5 
2 1 3 5 

4 2 5 
x       7 

 

………………… 

2 3 8 
x       6 

 

………………… 

9 1 5 
x       4 

 

………………… 

6 3 1 
x       8 

 

………………… 

7 0 8 
x       5 

 

………………… 
 

6 7 4 
x       3 

 

………………… 

8 8 8 
x       2 

 

………………… 

5 6 9 
x       7 

 

………………… 

3 4 2 
x       5 

 

………………… 

1 0 9 
x       6 

 

………………… 

5 1 0 
x       4 

 

………………… 

 

6 8 1 
x       3 

 

………………… 

5 0 7 
x       8 

 

………………… 

9 5 1 
x       7 

 

………………… 

3 7 9 
x       4 

 

………………… 

9 9 0 
x       8 

 

………………… 

4 8 6 
x       9 

 

………………… 
 

• Calcule en lignes : 
 

28 x 4 = 112 4 x 28 = ……..….. 751 x 3 = ……..….. 
   

812 x 10 = ……..….. 5 x 365 = ……..….. 93 x 20 = ……..….. 
   

315 x 4 = ……..….. 9 x 111 = ……..….. 20 x 500 = ……..….. 
   

741 x 6 = ……..….. 8 x 606 = ……..….. 342 x 7 = ……..….. 
 


